
La soustraction posée 
sans retenue 1	

Prénom : 	
Date : 	

Calcul	

1. Calcule ²ce$ ²soustraction$ ²en ²t’²aidant ²de$ ²timbre$ : 
  
34 - 22 = …...    43 - 11 = …...    57 - 24 = …...  
 
 
 

2. Calcule ²ce$ ²soustraction$ ²posée$ : 
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La soustraction posée 
sans retenue 2	

Prénom : 	
Date : 	

Calcul	

1. Calcule ²ce$ ²soustraction$ : 
  
 
 

2. Pose et calcule ²ce$ ²soustraction$ : 
 
 
   23 - 12 =          37 - 22 =        68 - 47 =   56 - 31 = 
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   55 - 34 =          38 - 5 =        63 - 50 =   22 - 12 = 



La soustraction posée 
avec retenue 1	

Prénom : 	
Date : 	

Calcul	

1. Calcule ²ce$ ²soustraction$ ²en ²t’²aidant ²de$ ²timbre$ : 
  
41 - 25 = …...    43 - 16 = …...    55 - 28 = …...  
 
 
 

2. Calcule ²ce$ ²soustraction$ ²posée$ : 
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La soustraction posée 
avec retenue 2	

Prénom : 	
Date : 	

Calcul	

1. Calcule ²ce$ ²soustraction$ : 
  
 
 

2. Pose et calcule ²ce$ ²soustraction$ : 
 
 
   23 - 15 =          33 - 26 =        60 - 37 =   56 - 35 = 
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   54 - 38 =          32 - 5 =        67 - 31 =   22 - 17 = 


